Term 5 Session 2

Verbal Reasoning - Number Letter Codes

BARN ARID BIND BAI?D
153 ¢ s3Iy G is L
1536 5324 1564
1. Find the code for the word BIND. \2 64
2. Find the code for the word DRAB. 351

3. Find the word that has the number code 1356. B8R AN

TEAR FOOT FORE FEAT

2146 S11 L 5163 St4L2
5112 5342 2346
4. Find the code for the word TEAR. 234 6
5. Find the code for the word TORE. ni1 €3

6. Find the word that has the number code 6452. R PAFT

SEEK SOAK MAKE ASKS

PREAM 36y 1CyS U3
3554 1645 3264

7. Find the code for the word SOAK. 326 %

8. Find the code for the word SAME. (S

9. Find the word that has the number code 1634.1" A3 ¥

LACK WEAK LEEK LAKE
3y 236k 'S3L TCys
2564 1634 1554
13. Find the code for the word LAKE. I¢L S
14. Find the code for the word CAKE. Ry 1% S

15. Find the word that has the number code 4551. K €€ L

ARCH HAIR RACE HARE
26 35 T 24, (3 572 ¢
6231 5261 5246
10. Find the code for the word RACE. (1-5 |
11. Find the code for the word ACHE. 13°% !

12. Find the word that has the number code 3261. ¢ A™ €
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Spatial Reasoning — Connecting Shapes
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Across Down
2. if you are hungry, your tummy 1. to squash 7. not proud
might without 9. to fall
6. very horrible folding 14. it could
8. eg carefully happen
10. plenty 3. not silly 15. not
11. to complain 4.can do complicated
12. a bit of something which can be jobs well
tested 5. twice
13. the holy book for Christians
16. not nice at all
17. a small hollow in the cheek

.itis not good to be in
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Maths — Area and Perimeter

Shown below is a square.

3cm

Not drawn
accurately

12 ¢

Work out the perimeter of the square.

Shown below is an isosceles triangle.

LR EYN

Calculate the perimeter of the triangle.

1 9cm

4cm

A rectangle has a perimeter of 32cm.

Write down a possible pair of values for its length and width.

14+ 2
1+ S

19 4
L4y '

19+3 9471

lo+ €

Arectangle has a perimeter of 20cm.

Write down a possible pair of values for its length and width.

9+ 1
d+1]

7143
Ct+lt

9cm

2cm

Becm
4cm

L aQ(m

Calculate the perimeter of the shape above.

3cm
8cm L
I
3cm
7cm
3 0 Can
Calculate the perimeter of the shape above.

The perimeter of a parallelogram is 17cm.
The length of each long side is 5cm.

9

35

S

Work out the length of each short side.

Shown below is a rectangle.

Not drawn
accurately

16c

6cm

2cm

Work out the perimeter of the rectangle.

|,

Future Minds Tuition



Term 5 Session 2

Question 1: Calculate the area of each of these rectangles
(@) ® (©) @
9em cm cm
12cm
G5 Json  |$C [0 g deem  fySliser
(e) (f) (e) (h)
20cm 25¢cm 14em 50em
L o ttem Yg00m [ 5 G J4m [1o o ]20m
(i) () 12 mies (K @
3m & 65cm
Ly 18 miles|q | § 5mm| ' 6 3 Sg 9 [9m
8m
33mm
Question 2: Work out the area of each of these squares
@ e () © (@ 14cm
0o 9mm
LA - 2 1€
20cm

Question 1:

Question 2:

Question 3:

Question 4:

Question 5:

Question 6:

A farmer has a field that is 300m long and 70m wide.

Calculate the area of the field. .

PRN-Y LN

A piece of paper has a length of 18cm and a width of 6cm.

Find the area of paper.
| Rr -

A rectangle has an area of 30cm?
Write down the length and width of three rectangles with an area of 30cm?

\@x3 AXIS sv g

These two rectangles have the same area.
Find the length of the second rectangle.

8cm 20 ;LK D - l-l—C)
5cm Lo 2em |

A rectangle has an area of 80cm? and a perimeter of 48cm. 7_0

Find the length and width of the rectangle.

A rectangle has an area of 100cm? and a perimeter of 104cm. ‘5 o

Find the length and width of the rectangle. ) E-——‘\
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